
Puissances de Dix (G)

77 × 5 = 73 × 8 =
77 × 50 = 73 × 80 =
77 × 500 = 73 × 800 =
77 × = 73 × =
77 × = 73 × =

94 × 5 = 74 × 2 =
94 × 50 = 74 × 20 =
94 × 500 = 74 × 200 =
94 × = 74 × =
94 × = 74 × =

23 × 3 = 58 × 2 =
23 × 30 = 58 × 20 =
23 × 300 = 58 × 200 =
23 × = 58 × =
23 × = 58 × =

86 × 9 = 54 × 4 =
86 × 90 = 54 × 40 =
86 × 900 = 54 × 400 =
86 × = 54 × =
86 × = 54 × =

25 × 5 = × 4 =
25 × 50 = × 40 =
25 × 500 = × 400 =
25 × = × =
25 × = × =

DÉFI
MathsLibres.com

5 000 8 000
50 000 80 000

5 000 2 000
50 000 20 000

3 000 2 000
30 000 20 000

9 000 4 000
90 000 40 000

5 616
5 616
5 616

5 000 5 616 4 000
50 000 5 616 40 000



Puissances de Dix (G) Solutions

77 × 5 = 385 73 × 8 = 584
77 × 50 = 73 × 80 =
77 × 500 = 73 × 800 =
77 × = 73 × =
77 × = 73 × =

94 × 5 = 470 74 × 2 = 148
94 × 50 = 74 × 20 =
94 × 500 = 74 × 200 =
94 × = 74 × =
94 × = 74 × =

23 × 3 = 69 58 × 2 = 116
23 × 30 = 690 58 × 20 =
23 × 300 = 58 × 200 =
23 × = 58 × =
23 × = 58 × =

86 × 9 = 774 54 × 4 = 216
86 × 90 = 54 × 40 =
86 × 900 = 54 × 400 =
86 × = 54 × =
86 × = 54 × =

25 × 5 = 125 × 4 =
25 × 50 = × 40 =
25 × 500 = × 400 =
25 × = × =
25 × = × =

DÉFI
MathsLibres.com

3 850 5 840
38 500 58 400

5 000 385 000 8 000 584 000
50 000 3 850 000 80 000 5 840 000

4 700 1 480
47 000 14 800

5 000 470 000 2 000 148 000
50 000 4 700 000 20 000 1 480 000

1 160
6 900 11 600

3 000 69 000 2 000 116 000
30 000 690 000 20 000 1 160 000

7 740 2 160
77 400 21 600

9 000 774 000 4 000 216 000
90 000 7 740 000 40 000 2 160 000

5 616 22 464
1 250 5 616 224 640

12 500 5 616 2 246 400
5 000 125 000 5 616 4 000 22 464 000

50 000 1 250 000 5 616 40 000 ###


